
Subject: NAs in occupation variable of eligible women
Posted by Mrinal on Thu, 31 May 2018 13:07:11 GMT
View Forum Message <> Reply to Message

Dear folks,

When tabulating v714 (Respondent currently working), more than 80 percent observations have
missing value. Is it correct?

v714 : respondent currently working 
        Frequency   %(NA+)   %(NA-)
no          87082     13.3     76.1
yes         27383      4.2     23.9
NA's       541384     82.5      0.0
  Total    655849    100.0    100.0

Thank you.
Mrinal
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